i 525 =L % wgy | RERT | BE# ;| BE i

No. ﬁﬁua%ﬂ ﬁé%ﬂ E*ﬁ ELL ﬁﬁﬁ*ll- ﬁﬁﬁ*ll- tbiﬁk 71:’-%'_ EE?’EE %15']

WNEDEEBEDK ZEMTSIUR 10,930.00| 1 B5FS 500 200 -300| B [F5YURBRIR—UMEHRZE) |[BEOHEH

WNEDEEBEDK REE 556.00| 1 BFRS 500 600 100 & |AEfE(A-BEHE) EE D 7RI

0|LVEDEXREDE HEEER 187.38| 1B 200 300 100| & gﬁﬁﬁﬁgMiﬁmﬂﬁwﬁﬁwﬁ%W

WLVEDEEEEDFH s 64.89| 1 BFRS 100 200 100 & gﬁﬁﬁﬁgMiﬁmﬂﬁaﬁﬁwﬁ%W

WLVEDEZEEDFH s=2 57.58| 1 BFRS 100 200 100| & 2@&§F%M$§ME&U@§®ﬁ%W

WLVEDEZEEDFH HE=3 55.27| 1 BFR5 100 200 100| & 2@&§F§M%§ma&aﬁﬁmﬁﬁﬂ

0|LVEDEXREDE BlE= 191.23| 1 B5RS 200 300 100| & 2@%§F%M$§ME&U@§®ﬁ%W

WLVEDEZEREDFH METHEE 162.99| 1 BRS 200 300 100| & gﬁﬁﬁ?%M%%ﬁ%&Uﬁﬁmﬁ%W
BHEE GAH E%)

90|\ EDEEREDH a ﬂgﬁgtuzmﬁ a0s|— 1A 3,200 3,200 of EE fgﬁ;}é;ﬁﬁ?ﬁ%@;ﬂz%ﬁ? fREOHZH
EEES (Sﬁﬁﬁ-ﬁ) ] ]

90|V LD EERED 5@%%&?&W@%" 1A 2,500 2,500 o &E g%;ﬁﬁgﬁgﬂzﬁﬁ? 12 RE D75 5151
ﬁ;i(WJiﬁg)

=2 BREAERAOEREEXET

90|L\EDEEREDH (15 d7=y27.6m/228 |~ 1A 1,700 1,700 o #BE |Ziem e REDHEH
BHEE GAA EE)

00| LvE (0 B2 INgEE A BHZAEROEAEEET %
(185727 6mi/228 |~ 1850 1550 Of FE \zism wemm) BEOH&H
=)

1/2R—=2




ik = 2 e + H L WIEHT HIEHR 5 HE == KGR
No. ﬁﬁaﬁ%ﬁ'\ ﬁé%*ﬂ" E*ﬁ E{i ﬁﬁﬁ*ll- ﬁﬁﬁ*ll- tbiﬁk 71:’-%'_ EE?’EE %15']
1?;31{(5);’)%-%@) AEA(EMA AEEET
IR g AT BAEA DTEAE
0|LEOEERROK (1Z 8 t-Y21 6mi/228 |~ A 150 150 of #& |ziem #HEmR) REOHED!
=)
WNEDEEBEDK X THETUNFAL |— 1A1H 100 100 of BE |¥vo7i5 B EE D 7RI

2/2R=




